12 11

10

Motor pulley 2GT 10 mm 20T

Hex head cap screw M3
x 0,5 x40 mm, 4 pieces

-

Motor holder block !
injection molded plastics

Spanner glider injection '
molded plastics, two parts

Hex head cap screw M4
x 0,7 x 20 mm, 4 pieces

A2 -\
&Q,

Ball race bearing
SS6702 2RS

'/_

Yl B
F'

1 P*
U

| E'IL%‘

L\\/ I
INS

Nema 17 Stepper 59 mm
long

Stiffening sheet 2 mm steel

Saddle milled aluminium,
two parts

Gates 10 mm 2GT toothbelt

T Spanner block injection
molded plastics

71,55

| =1 | 1 @
I
—_—————————————] [f———|
o o o o o o o o o o o o o o o
900,85
Idler pulley 2GT 10 mm 20T ?O%Nr;rrz] mza\:vﬁ” ';'§>;n h:]afkcrffrfgdrer‘]’l’jt'\"l\j: 0.7
long runner block
: : ==/
O@@ Q@@@/@@@@@@@@@@@@@@@
AN © ° \
Hex head cap screw M5 X Hex head cap screw M3 x 0,5 x 8 mm Countersunk hex head screw
Bent sheet metal 1 mm 40 + hex nut M5 + hex stop nut M3, 19 pieces each M3 x 0,5 x 8 mm, 4 pieces
Item | Quantity | Part number Description
1 1 1 CPC MGN 12 Linear Rail
2 1 2 Motor Holder
3 1 3 Spanner Block
4 1 4 Spanner Glider Part 1
5 1 5 Stepper NEMA17, 58 mm
6 1 6 Bearing SS6702 2RS
7 2 7 Motor Pulley 2GT 20T
8 1 8 Spanner Glider Part 2
9 1 9 Axis 5 mm Steel Rod
10 2 10 Bearing 6357
11 1 11 Gates 2GT 10 mm toothed Belt
12 1 12 Sheet Metal Frame Part
13 1 13 Sheet Metal Structural Reinforcement
14 1 14 CPC MGN 12 L Carriage
15 1 15 Saddle
16 1 16 Belt Clamp
17 1 17 Hex socket head cap screw M4x0.70 x 30 Stainless Steel
18 4 18 Hex socket countersunk head screw M3x0.5 x 8 Stainless Steel  [untess otHerwisE sPECIFIED, NAME SIGNATURE | DATE
19 19 19 Hex socket head cap screw M3x0.50 x 8 Stainless Steel PIEBIONS A% IZNZLLLL::ETERS DRAWN CHRISTIAN MAYR 70220601
20 19 20 Hex nut grade A & B M3x0.5 Stainless Steel CHECKED p—
21 4 21 Hex socket head cap screw M3x0.50 x 40 x 18 Stainless Steel SURFACEFINISR /7 APPROVED
22 1 22 Hex socket countersunk head screw M3x0.5 x 25 Stainless Steel | DO NOT SCALE DRAWING Modulachse DeltaS Vo4
23 |4 23 Hex socket head cap screw M4x0.70 x 20 Stainless Steel BREAK AL, oI ARE TOGES AND — — - —
24 |1 24 Hex socket head cap screw M5x0.80 x 40 Stainless Steel FIRST ANGLE PROJECTION MATEF;\;eI lactics FINISH A1l 01
25 1 25 Hex nut grade A & B M5x0.8 Stainless Steel E}@ ' SAE 12 WELGHT SHEET 1 of 1

12 11

10

6 5 4 3 2




